# ON THE NEW CLASS OF THE NONLINEAR RATIONAL DIFFERENCE EQUATIONS 

MAHMOUD A.E. ABDELRAHMAN AND OSAMA MOAAZ


#### Abstract

In this paper we study the asymptotic behavior of the solution of the new class of the nonlinear rational Difference Equations. Namely, we consider the stability, boundedness, and periodicity of the solution. Moreover we give the periodic character of solutions of these equations, which is not familiar. We do not know a similar feature for other class of the nonlinear rational Difference Equations. We also give some interesting counter examples in order to verify our results.


## 1. Introduction

Difference Equations describe real life situations in probability theory, statistical problems, queuing theory, electrical network, combinatorial analysis, genetics in biology, sociology, psychology, economics, etc, [16, 17. So our study of the Difference Equations is so interesting. There has been many work about the global asymptotic of solutions of rational difference equations, [18- 23] and references therein. It is very important to investigate the asymptotic behavior of solutions of a system of nonlinear difference equations and to discuss the boundedness, periodicity and stability (local and global) of their equilibrium points.

Cinar [3] - 5] gave the solutions of the following difference equations

$$
x_{n+1}=\frac{x_{n-1}}{1+x_{n} x_{n-1}}, \quad x_{n+1}=\frac{x_{n-1}}{-1+x_{n} x_{n-1}}, \quad x_{n+1}=\frac{a x_{n-1}}{1+b x_{n} x_{n-1}} .
$$

Cinar et al. 6] studied the solutions and attractivity of the difference equation

$$
x_{n+1}=\frac{x_{n-3}}{-1+x_{n} x_{n-1} x_{n-2} x_{n-3}} .
$$

Elabbasy et al. 9 investigated the asymptotic behavior of the solution of some special cases of the difference equation

$$
x_{n+1}=\frac{\alpha x_{n-k}}{\beta+\gamma \prod_{i=0}^{k} x_{n-i}}
$$

[^0]Karatas et al. 18] acquired the solution of the difference equation

$$
x_{n+1}=\frac{a x_{n-(2 k+2)}}{-a+\prod_{i=0}^{2 k+2} x_{n-i}}
$$

For further studying of the asymptotic behaviour of solutions of rational difference equations, one can refer to [1] - [15] and references therein.

In this paper, we are concerned with analytical investigation of the solution of the following recursive sequence

$$
\begin{equation*}
x_{n+1}=a x_{n-k}+\frac{b x_{n-k}}{\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} x_{n-i}} \tag{1}
\end{equation*}
$$

where the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}, x_{0}$ are arbitrary positive real numbers and $a, b, \alpha, \beta_{j}, j=0,1, \ldots k$ are positive constants.

The rest of the paper is organized as follows: In Section 2 we study the stability behaviour of the solution for equation (1) and give an interesting counter example to support our analysis. In Section 3, we prove that the positive solution of equation (1) is bounded. In Section 4 we study the periodic behaviour of the solution for the equation (1). We also give two counter examples to show how our model is so rich.

## 2. The stability of solutions

In this section we study the local stability character of the solutions of equation (1). The positive equilibrium points of equation (1) are given by

$$
\bar{x}=0, \bar{x}=\left[\frac{b-(1-a) \alpha}{(1-a) B}\right]^{\frac{1}{k}}, \text { where } B=\sum_{j=0}^{k} \beta_{j}
$$

Now, we define the continuous function $f:(0, \infty)^{3} \rightarrow(0, \infty)$, such that

$$
f\left(u_{0}, u_{1}, \ldots, u_{k}\right)=a u_{k}+\frac{b u_{k}}{\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} u_{i}}
$$

Therefore, it follows that

$$
\begin{equation*}
\frac{\partial f}{\partial u_{m}}=\frac{-b u_{k} \sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j, m}^{k} u_{i}}{\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} u_{i}}, m=0,1,2, \ldots, k-1 \tag{2}
\end{equation*}
$$

and

$$
\begin{align*}
\frac{\partial f}{\partial u_{k}} & =a+\frac{b\left(\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} u_{i}\right)-b u_{k} \sum_{j=0}^{k-1} \beta_{j} \prod_{i=0, i \neq j}^{k-1} u_{i}}{\left[\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} u_{i}\right]^{2}} \\
& =a+\frac{b \alpha+b \beta_{k} \prod_{i=0}^{k-1} u_{i}}{\left[\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} u_{i}\right]^{2}} \tag{3}
\end{align*}
$$

Theorem 1 If $a+\frac{b}{\alpha}<1$, then the equilibrium point $\bar{x}=0$ of equation 1 locally stable.

Proof. The linearized equation of (1) about the equilibrium point $\bar{x}$ is the linear difference equation

$$
z_{n+1}=\sum_{i=0}^{k} \frac{\partial f(\bar{x}, \bar{x}, \ldots, \bar{x})}{\partial u_{i}} z_{n-i}
$$

From equations (22, (3) we have

$$
\frac{\partial f}{\partial u_{m}}(\bar{x}, \bar{x}, \ldots, \bar{x})=0
$$

for $m=0,1, \ldots, k-1$ and

$$
\frac{\partial f}{\partial u_{k}}(\bar{x}, \bar{x}, \ldots, \bar{x})=a+\frac{b}{\alpha} .
$$

It is follows by [19, Theorem 1] that, equation (1) is locally stable at $\bar{x}=0$ if

$$
a+\frac{b}{\alpha}<1
$$

Hence, the proof is completed.
The following counter example shows the stability of solution of equation (1) at $\bar{x}=0$.

Example 1 We consider the following initial data: $x_{-2}=1.01, x_{-1}=0.99, x_{0}$ for equation (1) with $k=1$, Figure 1 .

Theorem 2 If

$$
|T|\left((k-1) B+\beta_{k}\right)+\left|a b B+T \beta_{k}+(1-a)^{2} \alpha B\right|<b B .
$$

where $T=(b-(1-a) \alpha)(1-a)$, then the equilibrium point $\bar{x}$ of equation (1) is locally stable.

Proof. From equations (2), (3) we have

$$
\frac{\partial f}{\partial u_{m}}(\bar{x}, \bar{x}, \ldots, \bar{x})=-\frac{b-(1-a) \alpha}{b B}(1-a) B^{[m]}=-h_{m}
$$

for $m=0,1, \ldots, k-1$, where $B^{[m]}=B-\beta_{m}$ and

$$
\frac{\partial f}{\partial u_{k}}(\bar{x}, \bar{x}, \ldots, \bar{x})=a+\frac{b \beta_{k}+(1-a) \alpha B^{[k]}}{b B}(1-a)=-h_{k},
$$



Figure 1. Stability of solution at $\bar{x}=0$.

Then the linearized equation

$$
\begin{equation*}
z_{n+1}+\sum_{i=0}^{k} h_{i} z_{n-i}=0 \tag{5}
\end{equation*}
$$

It follows by [19, Theorem 1] that, equation 11) is locally stable at $\bar{x}=\left[\frac{b-(1-a) \alpha}{(1-a) B}\right]^{\frac{1}{k}}$ if

$$
\sum_{i=0}^{k}\left|h_{i}\right|<1
$$

This implies that

$$
\left|\frac{b-(1-a) \alpha}{b B}(1-a)\right|\left(\sum_{m=0}^{k-1} B^{[m]}\right)+\left|a+\frac{b \beta_{k}+(1-a) \alpha B^{[k]}}{b B}(1-a)\right|<1 .
$$

and so,

$$
|T|\left((k-1) B+\beta_{k}\right)+\left|a b B+T \beta_{k}+(1-a)^{2} \alpha B\right|<b B .
$$

Hence, the proof is completed.

The following counter example shows the stability of solution of equation (1) at $\bar{x}=\left[\frac{b-(1-a) \alpha}{(1-a) B}\right]^{\frac{1}{k}}$.

Example 2 We consider the following initial data: $x_{-2}=0.1, x_{-1}=0.2, x_{0}=$ 0.3 for equation (1) with $k=2$, Figure 2 .


Figure 2. Stability of solution at $\bar{x}=\left[\frac{b-(1-a) \alpha}{(1-a) B}\right]^{\frac{1}{k}}$.

## 3. Boundedness of the solutions

In this section, we investigate the boundedness of the positive solutions of equation (1).

Theorem 3 If $a+\frac{b}{\alpha} \leq 1$ then the solutions of equation 1 are bounded.

Proof. Assume that $\left\{x_{n}\right\}_{n=-k}^{\infty}$ be a solution of equation (1). Then we have

$$
\begin{aligned}
x_{n+1} & =a x_{n-k}+\frac{b x_{n-k}}{\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} x_{n-i}} \\
& \leq a x_{n-k}+\frac{b x_{n-k}}{\alpha} \\
& \leq\left(a+\frac{b}{\alpha}\right) x_{n-k}
\end{aligned}
$$

Hence, we have $x_{n+1} \leq x_{n-k}$. Thus we can divided the sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$ to $k+1$ subsequence bounded above by the initial conditions as follows:

$$
\begin{gathered}
x_{-k} \geq x_{1} \geq x_{k+2} \geq x_{2 k+3} \geq \ldots \\
x_{-k+1} \geq x_{2} \geq x_{k+3} \geq x_{2 k+4} \geq \ldots \\
x_{-k+2} \geq x_{3} \geq x_{k+4} \geq x_{2 k+5} \geq \ldots
\end{gathered}
$$

$$
x_{0} \geq x_{k+1} \geq x_{2 k+2} \geq x_{3 k+3} \geq \ldots
$$

Hence we chose $M=\max \left\{x_{-k}, x_{-k+1}, \ldots x_{0}\right\}$, which leads to $0 \leq x_{n} \leq M$. Thus, the proof is completed.

## 4. Periodic solutions

In this section we give the periodic behaviour of the solution for the non linear difference equation (11). Moreover we give the periodic character of solutions of these equations of order $k+1$, which is not familiar.

Theorem 4 Assume that $\beta_{j}=1$, for $j=0,1,2, \ldots k$ and at least one of the initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{0} \neq 0$. The equation (1) has period $k+1$ solution if

$$
b=(1-a)(\alpha+A)
$$

where $A=\sum_{j=0}^{k} \prod_{i=0, i \neq j}^{k} x_{-i}$.
Proof. Suppose that there exists a distinct prime period $k+1$ solutions of equation (1). Thus, we have the following algebraic system of $k+1$ equations

$$
\begin{equation*}
x_{1}=x_{-k}, x_{-k+1}=x_{2}, \ldots x_{0}=x_{k+1} \tag{6}
\end{equation*}
$$

Solving the algebraic system (6), we get

$$
\begin{equation*}
x_{1}=a x_{-k}+\frac{b x_{-k}}{\alpha+\sum_{j=0}^{k} \beta_{j} \prod_{i=0, i \neq j}^{k} x_{-i}}=x_{-k} \tag{7}
\end{equation*}
$$

then

$$
\begin{equation*}
a x_{-k}+\frac{b x_{-k}}{\alpha+A}=x_{-k} \tag{8}
\end{equation*}
$$



Figure 3. Prime period three.
i.e.,

$$
[b-(1-a)(\alpha+A)] x_{-k}=0
$$

Similarly by the solving the further algebraic equations we get

$$
\begin{gathered}
{[b-(1-a)(\alpha+A)] x_{-k+1}=0} \\
{[b-(1-a)(\alpha+A)] x_{-k+2}=0} \\
\cdot \\
\cdot \\
{[b-(1-a)(\alpha+A)] x_{0}=0 .}
\end{gathered}
$$

Hence, from assumption we get $b=(1-a)(\alpha+A)$. Thus, the proof is completed.

Example 3 In this example We give two different initial data, one of them with period three and the other with period four:
(1) The first initial data: $x_{-2}=0.5, x_{-1}=1.1, x_{0}=0.7$ for equation (1) with $k=2$ gives solution of prime period three, Figure 3 .
(2) The second initial data: $x_{-3}=0.5, x_{-2}=1, x_{-1}=0.8, x_{0}=1.2$ for equation (1) with $k=3$ gives solution of prime period four, Figure 4.


Figure 4. Prime period four.

## References

[1] M.A.E. Abdelrahman and O. Moaaz, Investigation of the new class of the nonlinear rational difference equations, Fundamental Research and Development International, 7(1) (2017), 5972.
[2] E. Camouzis, Global analysis of solution of $x_{n+1}=\left(\beta x_{n}+\delta x_{n+2}\right) /\left(A+B x_{n}+C x_{n-2}\right)$, J. Math. Anal. Appl., 316(2) (2006), 616-627.
[3] C. Cinar, On the positive solutions of the difference equation $x_{n+1}=\frac{x_{n-1}}{1+x_{n} x_{n-1}}$, Appl. Math. Comp., 150 (2004), 21-24.,
[4] C. Cinar, On the difference equation $x_{n+1}=\frac{x_{n-1}}{-1+x_{n} x_{n-1}}$, Appl. Math. Comp., 158 (2004), 813-816.,
[5] C. Cinar, On the positive solutions of the difference equation $x_{n+1}=\frac{a x_{n-1}}{1+b x_{n} x_{n-1}}$, Appl. Math. Comp., 156 (2004), 587-590.,
[6] C. Cinar, R. Karatas and I. Yalcinkaya, On the solutions of the difference equation $x_{n+1}=$ $\frac{x_{n-3}}{-1+x_{n} x_{n-1} x_{n-2} x_{n-3}}$, Mathematica Bohemica, 132(3) (2007) 257-261.
[7] R. Devault, S.W. Schultz, On the dynamics of $x_{n+1}=\left(a x_{n}+b x_{n-1}\right) /\left(c x_{n}+d x_{n-2}\right)$, Commun. Appl. Nonlinear Anal. 12 (2005) 35-40.
[8] S. N. Elaydi, An Introduction to Difference Equations, Undergraduate Texts in Mathematics, Springer, New York, USA, 1996.
[9] E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, On the difference equations $x_{n+1}=$ $\frac{\alpha x_{n-k}}{k}$, J. Conc. Appl. Math., 5(2) (2007), 101-113. $\beta+\gamma \prod_{i=0}^{k} x_{n-i}$
[10] E. M. Elabbasy and E. M. Elsayed, Dynamics of a rational difference equation, Chinese Annals of Mathematics. Series B, vol. 30, no. 2 (2009), 187-198.
[11] E. M. Elsayed, On the global attractivity and the solution of recursive sequence, Stud. Sci. Math. Hung., 47 (2010), 401-418.
[12] M. E. Erdogan, C. Cinar and I. Yalcinkaya, On the dynamics of the recursive sequence $x_{n+1}=$ $\frac{x_{n-1}}{\beta+\gamma x_{n-2}^{2} x_{n-4}+\gamma x_{n-2} x_{n-4}^{2}}$, Computers \& Mathematics with Applications, 61(3) (2011), 533537.
[13] C. H. Gibbons, M. R. S. Kulenovic, G. Ladas and H. D. Voulov, On the trichotomy character of $x_{n+1}=\left(\alpha+\beta x_{n}+\gamma x_{n-1}\right) /\left(A+x_{n}\right)$, J. Difference Eqs. and Appl., 8 (2002) 75-92.
[14] E. A. Grove, G. Ladas, Periodicities in Nonlinear Difference Equations, vol. 4, Chapman \& Hall / CRC, 2005.
[15] W. Kosmala, M. Kulenovic, G. Ladas and C. Teixeira, On the recursive sequence, $x_{n+1}=$ $\left(p+x_{n-1}\right) /\left(q x_{n}+x_{n-1}\right)$, J. Math. Anal. Appl. 251 (2000),571-586.
[16] V. L. Kocic and G. Ladas, Global behavior of nonlinear difference equations of higher order with applications, Kluwer Academic Publishers, Dordrecht, 1993
[17] M. R. S. Kulenovic, G. Ladas, Dynamics of Second Order Rational Difference Equations with Open Problems and Conjectures, Chapman \& Hall/CRC, Florida, 2001.
[18] R. Karatas and C. Cinar, On the solutions of the difference equation $x_{n+1}=\frac{a x_{n-(2 k+2)}}{-a+2 x_{n-i}}$, Int. J. Contemp. Math. Sciences, 2 (31) (2007), 1505-1509.
[19] O. Moaaz and M.A.E. Abdelrahman, Behaviour of the New Class of the Rational Difference Equations, Electronic Journal of Mathematical Analysis and Applications 4(2) (2016), 129 138.
[20] O. Moaaz, Comment on New method to obtain periodic solutions of period two and three of a rational difference equation [Nonlinear Dyn 79:241250], Nonlinear Dyn., (2016)
[21] M. Saleh and M. Aloqeili, On the rational difference equation $x_{n+1}=A+x_{n-k} / x_{n}$. Appl. Math. Comput., 171(2), (2005), 862-869.
[22] M. Saleh and M. Aloqeili. On the difference equation $x_{n+1}=A+x_{n} / x_{n-k}$ with $A<0$. Appl. Math. Comput., 176(1), (2006), 359-363.
[23] L. Zhang, G. Zhang, and H. Liu. Periodicity and attractivity for a rational recursive sequence. J. Appl. Math. Comput., 19(1-2):191-201, 2005.

Mahmoud A.E. Abdelrahman
Department of Mathematics, Faculty of Science, Mansoura University, 35516 Mansoura, Egypt

E-mail address: mahmoud.abdelrahman@mans.edu.eg
Osama Moaaz
Department of Mathematics, Faculty of Science, Mansoura University, 35516 Mansoura, Egypt

E-mail address: o_moaaz@mans.edu.eg


[^0]:    2010 Mathematics Subject Classification. 39A10, 39A23, 39A30, 39A99.
    Key words and phrases. Difference equations, equilibrium points, local and global stability, boundedness, periodic solution.

    Submitted May 21, 2017.

